PAYMENT SCHEDULE TYPE-A 2,167 Sq.Ft

INSTALLMENT	NUMBER OF INSTALLMENT	INSTALLMENT AMOUNT	<u>TOTAL</u> <u>AMOUNT</u>
ON BOOKING & NEXT 5 MONTHS	06	1,500,000	<u>9,000,000</u>
MONTHLY INSTALLMENT	60	500,000	<u>30,000,000</u>
ON POSSESSION	01	8,500,000	<u>8,500,000</u>
TOTAL AGREED FLAT PRICE	3 BED		<u>47,500,000</u>

The Total Agreed Flat Price does not include Sub-lease / Documentation charges / CVT and Electricity / Water / Gas connection expenses, etc. Such charges / expenses including and miscellaneous expenses which may be incurred by the builder in fulfilling the formalities of **Note :** various departments shall be paid by the Allottee at once on demand. The cost of Extra work is also excluded from the Total Agreed Flat Price. Such work keeping within the scope mentioned in clause #5 of the Terms & Conditions shall only by carried out on the written request of the Allottee & on Payment of estimated cost thereof in advance along with the reuest.

FLAT NO:

READ UNDERSTOOD	, ACCEPTED	& AGREED
------------------------	------------	----------

SIGNATURE :	
NAME :	
DATE :	

FLOOR:

PAYMENT SCHEDULE TYPE-B 1,944 Sq.Ft

INSTALLMENT	NUMBER OF INSTALLMENT	INSTALLMENT AMOUNT	<u>TOTAL</u> <u>AMOUNT</u>
ON BOOKING & NEXT 5 MONTHS	06	1,500,000	<u>9,000,000</u>
MONTHLY INSTALLMENT	60	450,000	<u>27,000,000</u>
ON POSSESSION	01	7,300,000	<u>6,500,000</u>
TOTAL AGREED FLAT PRICE	3 BED		<u>42,500,000</u>

The Total Agreed Flat Price does not include Sub-lease / Documentation charges / CVT and Electricity / Water / Gas connection expenses, etc. Such charges / expenses including and miscellaneous expenses which may be incurred by the builder in fulfilling the formalities of Note: various departments shall be paid by the Allottee at once on demand. The cost of Extra work is also excluded from the Total Agreed Flat Price. Such work keeping within the scope mentioned in clause #5 of the Terms & Conditions shall only by carried out on the written request of the Allottee & on Payment of estimated cost thereof in advance along with the reuest.

FLAT NO:

FLOOR:

SIGNATURE :	
NAME :	
DATE :	

PAYMENT SCHEDULE TYPE-C 2,098 Sq.Ft

INSTALLMENT	NUMBER OF INSTALLMENT	INSTALLMENT AMOUNT	<u>TOTAL</u> <u>AMOUNT</u>
ON BOOKING & NEXT 5 MONTHS	06	1,500,000	<u>9,000,000</u>
MONTHLY INSTALLMENT	60	475,000	<u>28,500,000</u>
ON POSSESSION	01	8,500,000	<u>8,500,000</u>
TOTAL AGREED FLAT PRICE	3 BED		<u>46,000,000</u>

The Total Agreed Flat Price does not include Sub-lease / Documentation charges / CVT and Electricity / Water / Gas connection expenses, etc. Such charges / expenses including and miscellaneous expenses which may be incurred by the builder in fulfilling the formalities of **Note :** various departments shall be paid by the Allottee at once on demand. The cost of Extra work is also excluded from the Total Agreed Flat Price. Such work keeping within the scope mentioned in clause #5 of the Terms & Conditions shall only by carried out on the written request of the Allottee & on Payment of estimated cost thereof in advance along with the reuest.

FLAT NO:

READ UNDERSTOOD	, ACCEPTED & AGREED
------------------------	---------------------

SIGNATURE :	
NAME :	
DATE :	

FLOOR: